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Text & Tests 6

Pattern To find a
1st difference constant 7, = an + b a = 1st difference
2nd difference constant 7T, = an® + bn + ¢ 2a = 2nd difference
3rd difference constant 7, = an® + bn> + cn + d  6a = 3rd difference
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1st difference constant

2nd difference constant | 7, = an® + bn + ¢

T,=an+b
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Pattern To find a
a = 1st difference A1>
2a = 2nd difference = A =%

3rd difference constant 7, = an® + bn®> + cn + d  6a = 3rd difference | A= '%-
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{ Example 1 )

Express the nth term of the number pattern —1,13,51,125,247,.... asa

cubic polynomial.
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